11 Grammar Issues with Top-Down parsers
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FUNCTION parse A()
IF token = 'a' THEN
getToken()
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FUNCTION parse A() EER
IF token = 'c' THEN
getToken()
ELSE
parse A()

Remedy: Direct Left Recursion Elimination

Rbp\accz A— A, | A0< ‘Ao(S Iw(/fz \/35 J/%(“'

by : A*’ﬁiAl/S’A\/%A\
A= A Loy A | <A e (

€9.1
A"AA\AE‘C = A— cA '
;\Vi 2 /S’M; A"‘DU\AI\BA \‘/L
]:h\’u'\hom.
A
/\ CCKLDO\ !/A\’
/A\ a c A
A b J{\A'
£ >, &
} )
c 0\/ \A/;'\,'
E;-Gi ¥?2 ,iﬁ% !§ "
E-E+7 | T
ToT+F| F (5+3) + (g ¢ (1+2))
F—k ) (E) R
E + L
Rewnte 4 /J: -
E-TE 1 CCE D)
E'- +TE' | 4 sy A

3500_fs Page 3



/(‘_‘b ""T—E’ lj[_ v~ — 0 ——
T FT' ) ( B ) T T
T *FT | A g T F =
F = | (E) + = > RN
— F o3 & T = )
:5 l\\\\\‘
£+ T
T’ =
! | =
¥ ET ) = >
¥$FeFT 1 Zz
$FParFE FT/

Q or wore  vepekibims of ¢ F
m ERNF

E-» T{(+T}

T - F{+F3

F— wh | (E)

FUNCTION parse F()

FUNCTION parse T()
IF is integer(token) THEN

FUNCTION parse E()
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parse T() parse F()

WHILE token = '+' DO WHILE token = '*' DO getToken()
getToken() getToken() ELSIF token = '(' THEN
parse T() parse F() getToken()

END END parse E()

END. END. IF token = ")"' THEN
getToken()
ELSE
error(") expected")
END
ELSE
error()
END

END.



